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11:

12:
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240 + 575 4 572 cmeemmmmm e e 1=
984 + 794 + 175 - oo o mm oo e 2=
339 — 106 + 347 <o m oo 3=
374 + 148 + 955 + 204  -----mmm e 4=
922 4+ 554 + 764 + 432 cem e 5—
5650 — 5850 4 38500 - o - s o e 6=
22.7 + 201 + 48.4 — 343  —mmoo oo 7—
31.5 — 288 + 70.7 — 955 — 1.94 e e 8=
0.349 x 0.762 x 0.0999 - oo oo 9=
0.678 x 13.5 x 0.109 oo o 10=
Convert 17.8 quarts to gallons, -~ =-~--m=-- oo oot 11=

it takes Joey 23 minutes to wash 2 cars. How long will it take him to wash

Nicole bought 3 bananas at 21¢ each, 5 apples at 37¢ each, and a peach for

49¢, She paid with a $5-bill. How much change did she receive? ----------vnvnunn-- 13=%

gal
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14: (3490 — 6800) / (5190 — 9840) e
15: (1550 + 917) / (69.8 + 24.6) === --=memcmmmmmmm e
16: (=993 - 16.1) + {92.4 + 287) ~ {9} ~=-mmmrrmm oo
17:  (-71.6 — 36.4) (7 + 4.09) — (2.51) =we==mmccmmmmmo oo

18:  (79.4 + 8830) — (1000 — 4780) — (396 + 9230) -------mmmm-mm-mmmmaemn

—~0.0933/0.0626
0.055 +

10: [ ]{9.69 4+ 3.86 4 5] <ememeommmmmmmmemeoeeoeoes

~0.993 276  9.46
20: 634
(0.63 ){ 0.137 T 0.851 & 0.835}

-0.79 14 0,933 + 9.75
R e
0.863/1-82.9 22.5
59, (15.2 - 8.12 + 0.761}{-2.64 + 9.4 + 7.95)
: -0117 + 617 T
>3, [(5.5 - 85.8 + 18.2)}{44.3}
’ (76.6/ 365)
24: Quarters are 1.75 mm thick and dimes are 1.35 mm thick. A stack of quarters

is the same height as a stack of dimes. The value of the dimes is $31.50. What is the
value of the quarters in the stack? ------------cmormmm e

25: A copy machine can print 35 pages per minute. How long will it take to print
48 copies of a 60-page document? ------------emmeee oo

26: Callie earned $43,200 last year. She received $45,100 this year What was
the percent increase in her salary? -----------mmm o

24=%

25=

min

%
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~4 -4
L, (449 + 0369) (3.29x1074) - (6.3x107%) -
i 76.6 + 7.63 0.171 + 0.127 -
-5 4.37 + (2.63 + 14 — 31.5)(47.6)
28: (9.62x10 fx [ | e 28=
(0.27)(-99.2) (-92.5)
29: {90.9H517) - (90.9H{753 + 612} ----mrmrm e 29=
17500 27000
30: - (0,616) ----mmmemee - 30
-91200 - 3740 - 1810 ¥ 92400 + 2830 ( )
(8.52) (6.47)(80.3)
31: + {1/4.2) — e e - 31=
(6.98) ( ) 8.65
32: (=79.6 — 2.05 + 29.7)(3.46 + 8.47 + 16.7) ~w-e-omcmmm 32=
7.61/0.371 -0. . .
33 { ) N 0.241 +184+0376 33
(0.0157 /9.39) {(-0.0864)(-0.163)
34: (—1—)(—0.679) ~ (6.03X1072)  <--nmmoeo oo 34=
1/0.966
35: Four times the square root of a number added to 17.8 equals the number
What is the number? - --- oo e e 35=
36: Charles’ Law states that when pressure is held constant, volume and
temperature of a dry gas will increase proportionally. A balloon held 10.8 L of
air when the temperature was 301 K. The balloon was taken outside where the
temperature was 283 K. What is the new volume in the balloon? ------------------ 36= L
37. RECTANGLE 38. TRIANGLE

——————————— G

Perimeter = ? Area =7

37. 38.
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39:  (3.68)(9.12) — (2.49 + 0.351)2  ommmmmmmm oo 39=
(2.23 + 1.19)2 1
40: il et T 40=
16.2 6.49
41: V77400 + 87900 — 79300 — 4340 -------mmmemmmmm e 41=
42: VY7790 — 661 — 0.298V7030 + 833  ------ommmmmmmmr e 42=
43 \/0.0947 + 0.00548 \/0.00943 _____________________________________ 43—
0.00258 0.0882
(8.54x1079) - (8.99x1078)
44: — oo 44 =
(0.448 — 0.0516 - 5.9)2
.319 - 0.603 1/2
45: 0.319 - 0 ( ! ) ---------------------- A5
V0.379 + 0.0733 + 0.0432 '0.0341 + 3.68
3f 219 - 521
46: _—— — (6. S77H0.993) --- - e =
\/0-155 705 (6.72})(0.577}({0.993) 46
47 A room is 14 feet 3 inches by 12 feet 6 inches. Carpet costs $4.50 per square
foot. Labor costs $85 per hour. How much will it cost to have this room carpeted if
the job takes 2 hOUrs? ~-- - - s o e e e s 47=%
48: A water tank, in the shape of a right circular cylinder; sits on its base. The
diameter is 15.6 ft and its height is 22 ft. There are 24000 gallons in the tank, How
full is the tank? [1 13 = 7.48 gal] - r-----=--mmm-=mmmmmme oo mmmcmmoonoe 48= %
49. RIGHT TRIANGLE 50. RIGHT TRIANGLE

49.

[ -
—

20.8

/

o
A
N

50.

176

L—144—-—

Area =7?
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54:

55:
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(—401000) (—476000 ~ 796000) (8890) (—1850 — 230000) =----------nrn- 51=

(—601000)3 \/ (5.55)(109)
—_— ] +

—————————————————————————————————————— 52=
=34900 34800 - 33000
08)3 x [ 2 . [0.471 + 0.459] _________________________________ .
(0.8) 0.8 B
0.0301 + = . 0.0721 + 0.38 - 7.77 0521 - 54
0.021 0.021 - 0.021 -
(0.725 — 0.00561)%2 . Vv0.00107 -
(0.0842 — 0.319) 0.046 -
4,.63)(-7.16 - 2.05 + 8.34 .
(4.63)( +834) 0000592 e
(1.19 — 38.1 + 8.84)(19.5)
7
1.7x10 — (~4.76 + 0.408)(0.969 — 0.574)} ---z--cmom-omuuas 57=
1/(3.68x10"7)
2
(736)(851)
ST T 4 (B52)(8.57) e mmmmmmmemmm oo 58=
(-48.2)(19.8)
How many integers between 111 and 11111 are evenly divisible by 11?7 ---- 59=

A charity held a raffle. They sold $650 in tickets at $5 per ticket. Martha

bought 3 of the tickets. One ticket will be drawn to win the prize. What is the

probability that Martha will win? ---------- - e e 60=

(integer)
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61. SPHERE 62. SQUARE-BASED PYRAMID
R=6.4
7.2

Volume = 7?7 Lateral Surface Area = ?
61. 62.
63: 3(0‘742) - 6(0'417) - (0,727)2 ________________________________________ 63:
64: (0.124 + 0.0235)(2.81)0'723 —~ {487} e 64=

) 0.543
65: T+ 42 ( 57 ) ............................................ 65=
68.5 + 27.4 Q.15

66: {deg) [sin{71° — 338° - 109°)]{73.4) ------------mmmmm 66=

0.171¢ 194°
67:  (deg) L 67=

0.477sin(3°)
589[cos(3.2 + 2.4)]

68: frad) — ———————————— 68
cos(3.91 — 0.52) + 0.318
69: 6(0'818 + 0‘343) X 6{0‘435 - 0‘66) + 0'0377 ___________________________ 69_
{0.486 + 0.523 + 0.324)
0: e 6342 70=

(0803 -0.596 - 0.611) e

7%: The enrollment £ at a school is known to model the equation E = 850(1.03)t,
where t is the number of years since 2020. What is the expected enrollment at the
schoolinthe year 20287 -------- i 71=

72: Cage-free eggs cost $3.75 per dozen. Organic free-range eggs cost $4.50 per
dozen. A farm sold 201 dozen eggs, making $846.00. How many organic free-range

egEs Were sold? - mm o m e e e e 72= dz(integer)
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/3. SIMILAR RIGHT TRIANGLES 74. SQUARE
10.9
i
2
17.9
4
1 [ 1 l
[ ) - 14,3—>|
Shaded Area =7
73. 74.
75: Log[1.69] + Log[4.03] — 2.24Llog[6.87] ------rrrmmmmme o 75=
76: 10L0g(0'0604 + 0'0894) + Lﬂ [6(0'699)(71')] + 3.66 ______________________ 76:
) - 0. ] 0.357(0.027
7. ,[(0.00972 - 0.00897) / (0.23)] / ( N .
0.257(0.0098)
(4.7 x 102)
78: Ln[94000] — 8.71 ------mmmmmmmmeooaaes 78=
(1.11 x 101) + (5.93 x 101 )
79: 1 - 0.157 + (0.157)2 — (0.157)3 + (0.157)% e 79=
80: {rad) cos(3.9)cos(1.87) — sin{3.9)sin(1.87) ---eommmmm e 80=
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1= 1390 14= 0712 27=  0.0587
1.39% 103 7.12x10"L 5.87 %102
2= 1950 15= 261 28=  —0.0000273
1.95% 103 2.61x101 _273x107>
3= 580 16=  -639 29= 77100
5.80 x 102 ~6.39 % 102 -7.71x 104
4= 1680 17=  -784 30= 0514
1.68x 102 _7.84x10° —5.14%x10~1
5= 2670 18= 3060 31=  -586
267x10° 3.06 x 103 —5.86x101
6= 38300 19=  -865 32=  —1490
3.83x 104 _8.65x%10° ~1.49% 103
7= 709 20= 464 33= 12400
~7.09% 101 464109 1.24 %104
8=  -1140 21=  0.0165 34=  -0.716
~1.14%103 1.65% 1072 —7.16x 1071
9=  0.0266 22= 19.1 35= 445
2.66x1072 1.91x 101 4.45%x 10}
10=  0.998 23=  -13100 36=  10.2
9.98x 1071 -1.31x 104 1.02x 101
11=  4.45 24=  $60.75 37= 261
4.45x 109 2.61x102
12= 57.5 . 55— 823 38= (0.383 1
575x10 2.23x 10l 3.83x10
13= $2.03 26= 4.40

4.40 x 100
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